Name CM

Quiz 1
(no calculators allowed)

nif z :Lj_ , the magnitude of z, | z]| is
3-2]
a)\/g b) /i c) 3 d) none of these
5 13 5

2) If, z:li_ the phaseof z, £z , is
—J

a) 45° b) —45° ¢) 90° d) —90° e) none of these

3) Ifz:%, the phase of z, Zz , is
1+ ]

a) 45° b) —45° ¢) 135° d) —135° e) none of these
4)1If z :2;1_, the complex conjugate of z, z7, is
3+2]

a) z=

2+J_ b) Z:LJ_ c) z=2;1_ d) none of these
3-2] 3+2] 3+2]

5)If z= e’ the complex conjugate of z, z°, is

1- jw

1w b) ERY c) L_e*"‘) d) none of these

a
) 1+ jo 1+ jw 1- jo

6)If z= e’ the magnitude of z,|z|,is

1+ jo

jo

1 - 1 1 1
a) ——e!’ b)) ——e? ) d) e) none of these
V1+ @? V1-o? V1-@? V1+ @?
7) We can write e** as a)l b) (<D ¢)0

8) We can write j in polar form as ae” be ez d e’z



9) We can write -1 in polar form as a)e”” b)e’” ¢ e’z d) e 2

10) If we made the variable substitution o —g in the integral _[ x( Zjdi the new

integral is

N[

—ix(a)da b) ZTX(a)da %ix(a)da d) 2ix(a)da &) none of these

t
11) If we made the variable substitution o =1 -1in the integral J e*x(A-1)d 1, the new

integral is

t-1 t t t-1
a) Ie”*lx(a)do b) Ie”*lx(a)da c) Ie”x(o)da d)ZIe”x(a)da e) none of these

5
12) If we made the variable substitution o =1-24 in the integral I Xx(L-24)dA, the
0

new integral is

a).:[x(a)da b) %Z{X(o*)da C) %Jl'x(a)da d) Jl;x(a)da e) none of these

-9



